Question 24 (10 marks) 2013 HSC - Economics
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Sample 1 Question 24

(b) Outline an effect of product market deregulation on inflation. 2
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(¢c) Outline a feature of a centralised labour market policy. 2

...............................................................................................................................
...............................................................................................................................
...............................................................................................................................
...............................................................................................................................
...............................................................................................................................

...............................................................................................................................

Question 24 continues on page 17

: §fess

Office Use Only — Do NOT write anything, or make any marks below this line.
e 4 e d 7407310293 |





